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Name: _______________________________

Mod2 Day 7







Date: _______________ Period: ____

Completing the Square
1.  Rewrite the equation in vertex form.
	Steps:

1)  Write equations in the form:  _________________.

2)  ​​​​___________ the terms with variable together. 

3)  Take _______ of “b” and ___________ it.  ______ and _________ this number to the same side of the equation.  

4)  Rewrite the _________________________ (x2 + 6x + 9) as a ___________________.  

5)  Simplify the equation.

	Example:     f(x) = x2 + 6x + 7



	a)  f(x) = x2 + 4x + 11


	b)  f(x) = x2 + 10x



	c)  f(x) = x2 + 7x + 2


	d)  f(x) = x2 – 6x + 12



	e)  f(x) = x2 + 18x – 15

	f)  f(x) + 3 = x2 + 11x



	g)  f(x) = x2 – 24x

	h)  f(x) = x2 – 11x – 13


Graphing Parabolas 

Graph each function without a graphing calculator.  Identify any horizontal or vertical shifting, the vertex, stretch factor, and orientation.  
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